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QUESTION 1

An administrator is notified that a bare metal database server is down. This database server is being served storage
using a Nutanix Volume Group. Upon investigating, the administrator finds that the disks in the database server that
map to the vDisks in the volume group have gone offline.

What is causing this issue?

A. The Volume Group Load Balancer has been disabled.

B. Port 9443 is blocked in the server firewall.

C. Port 3260 has been blocked in the server firewall.

D. A CVM serving the Volume Group has gone offline.

Correct Answer: D

QUESTION 2

An administrator deletes a large amount of data from a Volume Group presented to a Linux VM. The administrator
notices that the deleted data has not been reclaimed as usable storage. What action should be taken to reclaim the
storage capacity?

A. Shrink the Volume Group that is associated with the Linux VM

B. Unmount the Volume Group and then Remount the Volume Group

C. Enable the unman operation on the Linux VM

D. Run Defrag on the Linux VM

Correct Answer: B

Explanation: https://next.nutanix.com/how-it-works-22/vm-capacity-and-prism-capacity- are-different-33134

QUESTION 3

An organizations Nutanix Cluster is based on VMware vSphere. The cluster is configured to download software updates
automatically. The administration needs to verify and eventually upgrade VMware hypervisor via Prism Ul.

After logging in to Prism, the administrator receives the message shown:
No available versions for upgrade

What is causing the current state?

A. VMware support has expired, so downloads are not available.

B. vSphere binaries need to be manually uploaded.
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C. The environment is running the latest vSphere version, so no update is required.
D. The cluster is unable to connect to release-api.nutanix-ccm:8D.
Correct Answer: C

ref: https://portal.nutanix.com/page/documents/details?targetid=Web-Console-Guide- Prism-v510:upg-hypervisor-
upgrade-esxi-c.html

QUESTION 4
A systems administrator needs to add more VMs to their Nutanix cluster.

Which two actions should the administrator perform to determine if the current cluster can accommodate the new VMs?
(Choose two.)

A. Perform an Inventory with Life Cycle Management.
B. Determine utilization with Cluster Runway.

C. Enable Deduplication and Erasure Coding.

D. Utilize Optimize Resources for VM efficiency.
Correct Answer: BD

Ref:

ONE-CLICK PLANNING
Prism includes a powerful application and VM-centric capacity planning
engine that is powered by Nutanix's patent-pending X-Fit technology.

« Capacity Behavior Analytics: Predictive analysis of capacity usage and
trends based on workload behavior enabling pay-as-you-grow scaling.

+ Capacity Optimization Advisor: Infrastructure optimization
recommendations to improve efficiency and performance based on VM
behavioral analysis.

+« Just In Time Forecast: Capacity expansion forecast to meet future
workload growth.

QUESTION 5

An administrator needs to forecast infrastructure requirements for a new program and its associated applications. Prior
to the projected start of the new program, all existing applications will be decommissioned.

How should the administrator perform this task?
A. Check the Disregard Existing Workloads radio button in the Runway scenario.

B. Check the Disregard Existing Nodes radio button in the Runway scenario.
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C. Add up the recovered workloads and manually remove from the Runway configuration.
D. Power down the workloads during a maintenance window and run the Capacity Runway.

Correct Answer: A
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